RESOLUTION NO. 2023-<u>126</u>

A RESOLUTION AUTHORIZING THE ISSUANCE OF AN AMENDATORY SUPPLEMENTAL CHANGE ORDER NO. 1, TO CONTRACT NO. C22-0134, PURCHASE ORDER NO. 22-07538, ISSUED TO CHARLES MARANDINO LLC, MILMAY, NJ, IN THE AMOUNT OF \$74,560.81.

WHEREAS, the City Council of the City of Vineland, on October 11, 2022, adopted Resolution No. 2022-427, entitled "A RESOLUTION AWARDING A CONTRACT TO CHARLES MARANDINO LLC, MILMAY, NJ, FOR THE 2021 ROAD PROGRAM (SEVENTH STREET), IN THE AMOUNT OF \$1,614,412.00"; and

WHEREAS, N.J.A.C. 5:30-11.1, et seq., sets forth the requirements for the processing of change orders; and

WHEREAS, the City Engineer has requested that an amendment be made to contract awarded to Charles Marandino LLC, Milmay, NJ, for the 2021 Road Program (Seventh Street) as authorized by Resolution No. 2022-427: said amendment is necessary for various supplemental items for the area between Landis Avenue and Chestnut Avenue, which included:

- 1. Flowable fill that was needed to fill a void between a joint in a concrete roadway panel near a sanitary sewer manhole,
- 2. Removal and replacement of two (2) concrete electric vaults,
- 3. A revised signage and striping plan for on-street parking, a bike lane, additional signage, and handicap parking aisle ramps for each block; and

WHEREAS, the City of Vineland desires to comply with said requirements of N.J.A.C. 5:30-11.1, et seq., and to that end herewith files with the governing body a report stating the facts involved and indicating that the proposed change order may be allowed under these regulations; and

WHEREAS, the Chief Financial Officer has certified the availability of funds for the amendatory supplemental change order for which authorization is requested in the amount of \$74,560.81; now, therefore,

BE IT RESOLVED by the Council of the City of Vineland that said amendatory supplemental change order #1 to Purchase Order No. 22-07538 issued to Charles Marandino LLC, Milmay, NJ, in the amount of \$74,560.81, be and the same is hereby ratified and approved.

President of Council		-	
TTEST:	TTEST:		President of Council
		ITEST:	

Adopted:



March 21, 2023

REPORT

TO: THE MAYOR AND COUNCIL

> Amendatory Supplemental Change Order No. 1 Contract No. C22-0134, Purchase Order No. 22-07538 2021 Road Program (Seventh Street) Charles Marandino LLC, Milmay, NJ

We are requesting that an amendatory supplemental change order be issued to Contract No. C22-0134, Purchase Order No. 22-07538 issued to Charles Marandino LLC, Milmay, NJ, for the 2021 Road Program (Seventh Street). This contract was authorized by Resolution No. 2022-427, adopted by City Council on October 11, 2022.

The change order requested, in the amount of \$74,560.81, will provide for various supplemental items for the area between Landis Avenue and Chestnut Avenue, which included:

- 1. Flowable fill that was needed to fill a void between a joint in a concrete roadway panel near a sanitary sewer manhole,
- 2. Removal and replacement of two (2) concrete electric vaults,
- 3. A revised signage and striping plan for on-street parking, a bike lane, additional signage, and handicap parking aisle ramps for each block.

This change order represents an increase of approximately 4.62% over the original contract amount of \$1,614,412.00.

The amendatory supplemental change order for which authorization is herein requested may be authorized in accordance with N.J.A.C. 5:30-11.1 et seq.

Respectfully submitted.

Robert E. Dickens

Business Administrator

RD/rl Encl.



REQUEST FOR CHANGE ORDER

FOR:



2021 Road Program (Seventh Street)

	PROJECT NAME	
TO: BUSINESS ADMINISTRAT	ION	
DEPARTMENT: Engineering	FROM: Ste	ephanie Wakeley
This is a request for change order #	1 to Contract # 22-	0134 _{for:}
Project Name 2021 Road F		
Name/Address of Contractor: CHARLES MARANDINO, LLC (233 MAIN AVENUE, PO BOX 20 MILM/	AY, NJ 08340)
The change order is necessary beca and you must attach *documentation* (Documentation from contractor,	on to support the necessity of	necessary to explain your reason this change order.
Supplemental items for	flowable fill, electri	c vaults, and revised
signage/striping plan.	See attached chan	ge order summary.
Original Contract Amount:	_{\$} 1,614,412.00	
Amount of this change order:	_s 74,560.81	
Previous Change Orders:	s 0.00	•
Total Revised Amount:	\$1,688,972.81	-
APPROVED BY: Dov! Mail		

NOTE:

CHANGE ORDERS CANNOT EXCEED 20% OF THE ORIGINAL CONTRACT AMOUNT

Signature

Please provide the account number that the change order will be charged to:

Account # C. 04.00.000.2222-78001

Print/type

CC: Purchasing Division





Stephanie Wakeley, EIT Assistant Engineer -Traffic swakeley@vinelandcity.org www.vinelandcity.org

640 E. Wood Street PO Box 1508 Vineland, NJ 08362-1508 Phone: (856) 794-4090 Fax: (856) 405-4606

February 17, 2023

MEMORANDUM TO:

Bob Dickenson, Business Administrator

RE:

2021 Road Program (Seventh Street)

Between Landis Avenue and Chestnut Avenue

Change Order # 1

Engineering File#: 21-001

CT #: 22-0134

Attached is a Positive (+) change order for \$74,560.81 (4.62%). This is Change Order #1 for this project. The original contract amount for this project is \$1,614,412.00. Change Order No. 1 increases the total contract amount to \$1,688,972.81. Change Order #1 is for various supplemental items for the project.

One supplemental item was added for flowable fill (S-1). Flowable fill was needed to fill a void between a joint in a concrete roadway panel near a sanitary sewer manhole. Flowable fill was a cheaper alternative to replacing the entire concrete roadway panel. An original change order was submitted for \$582.00 per cubic yard. The City negotiated with the contractor to reduce the cost for this item to \$530 per cubic yard. 5 cubic yards of flowable fill was needed.

On behalf of the City's Electric Utility, the City's Engineering Division requested the Contractor to remove and replace two concrete electric vaults. Both electric vaults were located in the sidewalk area on Seventh Street between Elmer Street and Landis Avenue.

The first electric vault was on the west side of the road, near #12 S Seventh Street. For this electric vault, an original change order was submitted for \$26,863.00. The City negotiated with the contractor to reduce the lump sum cost for this item to \$25,000.00. As such, a supplemental, negotiated lump cost was added for this electric vault replacement (S-2). The second electric vault was on the east side of the road, near #7 S Seventh Street. For this electric vault, a change order was submitted for \$25,473.31. A supplemental lump cost was added for this electric vault replacement (S-3). The Electric Utility will pay for both of the electric vault change orders.



Lastly, supplemental items were added for the revised signage and striping plan (S-4 through S-24). At the City's request, the signage and striping plan was revised for on-street parking, a bike lane, additional signage, and handicap parking aisle ramps for each block. Change order for this work is estimated for a total of \$21,437.50. City will pay for the as-built quantities for each project item. In addition to the added specification items, three existing bid items for this project will be increased (#3.2.1 concrete vertical curb, #3.3.1 concrete sidewalk, and #3.4.1 public sidewalk curb ramp delineations). The additional work for all existing items will be paid at the bid unit price for each of these items on the project.

If you have any questions or comments please feel free to contact me at any time.

Sincerely,

Stephanie Wakeley

Assistant Engineer – Traffic, E.I.T

Marchy

cc: Jim Neher, Director of Public Works Susan Baldosaro, C.F.O.

Jeanine Brownlee, Purchasing Agent

John Lillie, Director of VMU

CONTRACT: 21-001 - 2021 ROAD PROGRAM (SEVENTH ST), CT 22-0134

P.O.#: 22-07538

CONTRACTOR: CHARLES MARANDINO

233 MAIN AVENUE, PO BOX 20

MILMAY, NJ 08340

ITEM	DESCRIPTION	CONTRACT QUANTITY	UNITS	QUANTITY ADJUSTMENT	ADJUSTED QUANTITY	CONTRACT UNIT PRICE	ADJUSTED UNIT PRICE	CONTRACT AMOUNT	FINAL AMOUNT	AMOUNT OF CHANGE
1.1	TRAFFIC CONTROL	1	LS	0.00	1.00	\$ 5,000.00	\$ 5,000.00	\$ 5,000.00	\$ 5,000.00	\$ -
2.1.2	CLEARING SITE	1	LS	0.00	1.00	\$40,000.00	\$40,000.00	\$ 40,000.00	\$ 40,000.00	\$ -
3.2.1	6"x18" CONCRETE VERTICAL CURB	2,025	LF	0.00	2,025.00	\$ 42.00	\$ 42.00	\$ 85,050.00	\$ 85,050.00	\$ -
3.2.6	CONCRETE VERTICAL CURB WALL (10" WIDE x 12"-30" VARIABLE DEPTH)	200	LF	0.00	200.00	\$ 140.00	\$ 140.00	\$ 28,000.00	\$ 28,000.00	\$ -
3.3.1	CONCRETE SIDEWALK, 4" THICK	1,940	SY	0.00	1,940.00	S 98.00	\$ 98.00	\$190,120.00	\$190,120.00	\$ -
3.3.2	CONCRETE SIDEWALK, REINFORCED, 6" THICK	215	SY	0.00	215.00	\$ 98.00	\$ 98.00	\$ 21,070.00	\$ 21,070.00	\$ -
3.3.3	CONCRETE DRIVEWAYS, REINFORCED, 6" THICK	315	SY	0.00	315.00	\$ 98.00	\$ 98.00	\$ 30,870.00	\$ 30,870.00	\$ -
3.3.5	CONCRETE GUTTER, REINFORCED, 8" THICK	340	SY	0.00	340.00	S 134.00	S 134.00	\$ 45,560.00	\$ 45,560.00	\$ -
3.3.10	RESET BRICK PAVERS	40	SY	0.00	40.00	\$ 90.00	\$ 90.00	\$ 3,600.00	\$ 3,600.00	\$ -
3.3.11	STAMPED CONCRETE SIDEWALK PANEL	1	UNIT	0.00	1.00	\$ 800.00	S 800.00	\$ 800.00	\$ 800.00	\$ -
3.4.1	PUBLIC SIDEWALK CURB RAMP DELINEATIONS (CAST IRON TRUNCATED DOME CASTINGS)	576	SF	0.00	576.00	S 40.00	S 40.00	\$ 23,040.00	\$ 23,040.00	\$ -
4.3.1	18" DIA. REINFORCED CONCRETE PIPE, CLASS V, <7' DEPTH	40	LF	0.00	40.00	\$ 171.00	\$ 171.00	\$ 6,840.00	\$ 6,840.00	\$ -
4.3.3	24" DIA. REINFORCED CONCRETE PIPE, CLASS V, <7' DEPTH	230	LF	0.00	230.00	\$ 199.00	\$ 199.00	\$ 45,770.00	\$ 45,770.00	s -
4.3.11	14"x23" REINFORCED CONCRETE ELLIPTICAL CULVERT PIPE, CLASS V, <7' DEPTH	315	LF	0.00	315.00	S 187.00	S 187.00	\$ 58,905.00	\$ 58,905.00	\$ -
4.4.4	4" DIA. DUCTILE IRON PIPE	140	LF	0.00	140.00	\$ 221.00	\$ 221.00	\$ 30,940.00	\$ 30,940.00	\$ -
4.6.1	INLET, TYPE A, (<10' DEPTH)	2	UNIT	0.00	2.00	\$ 4,162.00	\$ 4,162.00	\$ 8,324.00	\$ 8,324.00	\$ -

ITEM	DESCRIPTION	CONTRACT	UNITS	QUANTITY ADJUSTMENT	ADJUSTED QUANTITY	CONTRACT UNIT PRICE	ADJUSTED UNIT PRICE	CONTRACT AMOUNT	FINAL AMOUNT	AMOUNT OF CHANGE
4.6.3	INLET, TYPE B, (<10' DEPTH)	1	UNIT	0.00	1.00	\$ 5,883.00	\$ 5,883.00	\$ 5,883.00	\$ 5,883.00	s -
4.8.1	RECONSTRUCT INLETS	1	UNIT	0.00	1.00	\$ 2,524.00	\$ 2,524.00	\$ 2,524.00	\$ 2,524.00	s -
4.10.1	RESET CASTINGS	13	UNIT	0.00	13.00	\$ 800.00	\$ 800.00	\$ 10,400.00	\$ 10,400.00	\$ -
4.11.1	RESET VALVE BOXES	23	UNIT	0.00	23.00	\$ 1.00	\$ 1.00	\$ 23.00	\$ 23.00	\$ -
4.12.1	REPLACE INLET CASTINGS & GRATES, TYPE A	2	UNIT	0.00	2.00	\$ 800.00	\$ 800.00	\$ 1,600.00	\$ 1,600.00	\$ -
4.12.2	REPLACE INLET CASTINGS, GRATES & CURB PIECES, TYPE D	4	UNIT	0.00	4.00	\$ 980.00	\$ 980.00	\$ 3,920.00	\$ 3,920.00	\$ -
4.12.3	REPLACE INLET CASTINGS & GRATES, TYPE E	1	UNIT	0.00	1.00	\$ 900.00	s 900.00	\$ 900.00	\$ 900.00	\$ -
5.3.1	REMOVE ASPHALT, VARIABLE THICKNESS	1,795	SY	0.00	1,795.00	S 5.00	\$ 5.00	\$ 8,975.00	\$ 8,975.00	\$ -
5.9.2	CONCRETE ROADWAY REPAIR	2,750	SY	0.00	2,750.00	S 198.00	S 198.00	\$544,500.00	\$544,500.00	\$ -
5.9.3	CONCRETE ROADWAY REPAIR, IF AND WHERE	200	SY	0.00	200.00	S 120.00	S 120.00	\$ 24,000.00	\$ 24,000.00	\$ -
6.1.1	DENSE GRADED AGGREGATE BASE COURSE (RECYCLED CONCRETE), IF AND WHERE	10	CY	0.00	10.00	\$ 151.00	S 151.00	\$ 1,510.00	\$ 1,510.00	\$ -
7.1.4	HOT MIX ASPHALT 9.5M64 SURFACE COURSE, 2" THICK	5	TON	0.00	5.00	\$ 101.00	\$ 101.00	\$ 505.00	\$ 505.00	s -
7.1.11	STONE MATRIX ASPHALT 12.5MM SURFACE COURSE, 1-1/2" THICK	1,180	TON	0.00	1,180.00	S 160.00	S 160.00	\$ 188,800.00	\$ 188,800.00	\$ -
7.1.12	BINDER RICH INTERMEDIATE COURSE, 4.5MM, 1" THICK	710	TON	0.00	710.00	\$ 180.00	\$ 180.00	\$ 127,800.00	\$ 127,800.00	\$ -
7.6.1	ASPHALT PRICE ADJUSTMENT	4,000	DOLLAR	0.00	4,000.00	S 1.00	S 1.00	\$ 4,000.00	\$ 4,000.00	\$ -
7.6.2	FUEL PRICE ADJUSTMENT	7,000	DOLLAR	0.00	7,000.00	S 1.00	S 1.00	\$ 7,000.00	\$ 7,000.00	\$ -
8.1.1	TOPSOILING, 4" THICK	1,480	SY	0.00	1,480.00	\$ 1.00	S 1.00	\$ 1,480.00	\$ 1,480.00	\$ -
8.2.2	HYDROSEEDING	1,480	SY	0.00	1,480.00	S 1.00	\$ 1.00	\$ 1,480.00	\$ 1,480.00	\$ -
8.4.1	REMOVE EXISTING TREES (<12" DIAMETER)	2	UNIT	0.00	2.00	\$ 800.00	\$ 800.00	\$ 1,600.00	\$ 1,600.00	\$ -
8.4.5	REMOVE EXISTING TREES (30" TO 36" DIAMETER)	1	UNIT	0.00	1.00	\$ 2,500.00	\$ 2,500.00	\$ 2,500.00	\$ 2,500.00	\$ -
12.3.5	1-1/2" DIA. ANODIZED ALUMINUM RAILINGS AND POSTS	250	LF	0.00	250.00	\$ 132.00	\$ 132.00	\$ 33,000.00	\$ 33,000.00	\$ -

ITEM	DESCRIPTION	CONTRACT QUANTITY	UNITS	QUANTITY ADJUSTMENT	ADJUSTED QUANTITY	CONTRACT UNIT PRICE		JUSTED UNIT PRICE	CONTRACT	FINAL AMOUNT	C 150000	MOUNT OF
S-4 (13.1.1)	TRAFFIC STRIPES, LONG LIFE, EPOXY RESIN, 4" WHITE	0	LF	1720.00	1,720.00	s -	s	0.90	\$ -	\$ 1,548.00	\$	1,548.00
S-5 (13.1.3)	TRAFFIC STRIPES, LONG LIFE, EPOXY RESIN, 6" WHITE	0	LF	1720.00	1,720.00	s -	\$	1.00	\$ -	\$ 1,720.00	\$	1,720.00
S-6 (13.2.1)	TRAFFIC STRIPES, LONG LIFE, THERMOPLASTIC, 4" WHITE	0	LF	1050.00	1,050.00	s -	\$	1.20	\$ -	\$ 1,260.00	\$	1,260.00
S-7 (13.2.2)	TRAFFIC STRIPES, LONG LIFE, THERMOPLASTIC, 4" YELLOW	0	LF	130.00	130.00	s -	\$	1.30	\$ -	\$ 169.00	\$	169.00
13.2.3	TRAFFIC STRIPES, LONG LIFE, THERMOPLASTIC, 6" WHITE	1,440	LF	0.00	1,440.00	S 1.30	s	1.30	\$ 1,872.00	\$ 1,872.00	\$	-
13.2.4	TRAFFIC STRIPES, LONG LIFE, THERMOPLASTIC, 8" WHITE	30	LF	0.00	30.00	\$ 1.70	s	1.70	\$ 51.00	\$ 51.00	\$	
13.2.6	TRAFFIC STRIPES, LONG LIFE, THERMOPLASTIC, 24" WHITE	959	LF	0.00	959.00	S 5.00	s	5.00	\$ 4,795.00	\$ 4,795.00	\$	-
S-8 (13.2.7)	TRAFFIC STRIPES, LONG LIFE, THERMOPLASTIC, 24" YELLOW	0	LF	130.00	130.00	S -	s	6.50	\$ -	\$ 845.00	\$	845.00
S-9 (13.2.8)	TRAFFIC STRIPES, LONG LIFE, THERMOPLASTIC, 4" BLUE	0	LF	130.00	130.00	S -	s	4.95	\$ -	\$ 643.50	\$	643.50
13.3.1	TRAFFIC MARKINGS, LONG LIFE, THERMOPLASTIC, LEFT ARROW, WHITE	1	UNIT	0.00	1.00	\$ 110.00	s	110.00	\$ 110.00	\$ 110.00	\$	-
13.3.4	TRAFFIC MARKINGS, LONG LIFE, THERMOPLASTIC, COMBINATION ARROW, WHITE	1	UNIT	0.00	1.00	\$ 220.00	s	220.00	\$ 220.00	\$ 220.00	\$	-
13.3.5	TRAFFIC MARKINGS, LONG LIFE, THERMOPLASTIC, "ONLY" LEGEND, WHITE	1	UNIT	0.00	1.00	\$ 125.00	s	125.00	\$ 125.00	\$ 125.00	\$	-
S-10 (13.4.1)	TRAFFIC MARKINGS, LONG LIFE, THERMOPLASTIC, PREFORMED, STRAIGHT ARROW, WHITE	0	UNIT	12.00	12.00	S -	s	135.00	\$ -	\$ 1,620.00	\$	1,620.00
S-11 (13.4.2)	TRAFFIC MARKINGS, LONG LIFE, THERMOPLASTIC, PREFORMED, "BIKE" SYMBOL, WHITE	0	UNIT	13.00	13.00	S -	\$	360.00	\$ -	\$ 4,680.00	\$	4,680.00
S-12 (13.4.3)	TRAFFIC MARKINGS, LONG LIFE, THERMOPLASTIC, PREFORMED, "END" LEGEND, WHITE	0	UNIT	2.00	2.00	s -	\$	135.00	\$ -	\$ 270.00	\$	270.00
S-13 (13.4.4)	TRAFFIC MARKINGS, LONG LIFE, THERMOPLASTIC, PREFORMED, "SHARED LANE MARKING" LEGEND, WHITE	0	UNIT	4.00	4.00	s -	s	385.00	\$ -	\$ 1,540.00	\$	1,540.00
S-14 (13.6.1)	TRAFFIC MARKINGS, PAINT, HANDICAP SYMBOL, HANDICAP BLUE	0	UNIT	6.00	6.00	s -	\$	75.00	\$ -	\$ 450.00	\$	450.00

ITEM	DESCRIPTION	CONTRACT QUANTITY	UNITS	QUANTITY ADJUSTMENT	ADJUSTED QUANTITY	CONTRACT UNIT PRICE	ADJUSTED UNIT PRICE	CONTRACT AMOUNT	FINAL AMOUNT	AMOUNT OF
13.8.2	RPM, BI-DIRECTIONAL, BLUE LENS	5	UNIT	0.00	5.00	\$ 215.00		\$ 1,075.00	\$ 1,075.00	\$ -
14.1.R1-1	SIGN, POST MOUNTED, STOP, 30"x30"	10	UNIT	0.00	10.00	\$ 225.00	\$ 225.00	\$ 2,250.00	\$ 2,250.00	s -
S-15 (14.1.R3-17)	SIGN, POST MOUNTED, BICYCLE LANE, 30"x24"	0	UNIT	12.00	12.00	s -	\$ 225.00	\$ -	\$ 2,700.00	\$ 2,700.00
S-16 (14.1.M4-6)	SIGN, POST MOUNTED, "END" PLAQUE, 24"x12"	0	UNIT	2.00	2.00	s -	\$ 65.00	\$ -	\$ 130.00	\$ 130.00
S-17 (14.1.M4(NJ)- 10)	SIGN, POST MOUNTED, "BEGIN" PLAQUE, 24"x12"	0	UNIT	2.00	2.00	s -	\$ 65.00	\$ -	\$ 130.00	\$ 130.00
14.1.R5-1	SIGN, POST MOUNTED, DO NOT ENTER, 30"x30"	12	UNIT	0.00	12.00	\$ 225.00	S 225.00	\$ 2,700.00	\$ 2,700.00	\$ -
S-18 (14.1.R5-1b)	SIGN, POST MOUNTED, WRONG WAY W/BICYCLE SYMBOL, 12" x 18"	0	UNIT	6.00	6.00	S -	\$ 140.00	\$ -	\$ 840.00	\$ 840.00
14.1.R6-1R	SIGN, POST MOUNTED, ONE WAY (RIGHT), 36"x12"	12	UNIT	0.00	12.00	\$ 65.00	\$ 65.00	\$ 780.00	\$ 780.00	\$ -
14.1.R6-1L	SIGN, POST MOUNTED, ONE WAY (LEFT), 36"x12"	12	UNIT	0.00	12.00	\$ 65.00	\$ 65.00	\$ 780.00	\$ 780.00	\$ -
14.1.R7-6L	SIGN, POST MOUNTED, NO PARKING LOADING ZONE (LEFT ARROW), 12"x18"	1	UNIT	0.00	1.00	\$ 110.00	\$ 110.00	\$ 110.00	\$ 110.00	\$ -
14.1R7-6R	SIGN, POST MOUNTED, NO PARKING LOADING ZONE (RIGHT ARROW), 12"x18"	1	UNIT	0.00	1.00	\$ 110.00	S 110.00	\$ 110.00	\$ 110.00	\$ -
S-19 (14.1.R7-8)	SIGN, POST MOUNTED, RESERVED PARKING (HC), 12"x18"	0	UNIT	6.00	6.00	s -	\$ 140.00	\$ -	\$ 840.00	\$ 840.00
S-20 (14.1.R7-8P)	SIGN, POST MOUNTED, HC PARKING PENALTY PLAQUE, 10"x12"	0	UNIT	6.00	6.00	s -	\$ 28.00	\$ -	\$ 168.00	\$ 168.00
S-21 (14.1.R7-8va)	SIGN, POST MOUNTED, VAN ACCESSIBLE PLAQUE, 12"x6"	0	UNIT	6.00	6.00	s -	\$ 24.00	\$ -	\$ 144.00	\$ 144.00
14.1.R7-108R	SIGN, POST MOUNTED, 2HR PARKING (TIME & DAYS) (RIGHT ARROW), 12"x18"	1	UNIT	0.00	1.00	\$ 110.00	\$ 110.00	\$ 110.00	\$ 110.00	\$ -
14.1.R7-108D	SIGN, POST MOUNTED, 2HR PARKING (TIME & DAYS) (DOUBLE ARROW), 12"x18"	2	UNIT	0.00	2.00	\$ 110.00	S 110.00	\$ 220.00	\$ 220.00	\$ -
14.1.R7-11L	SIGNS, POST MOUNTED, NO PARKING HERE TO CORNER (LEFTT ARROW), 12"x18"	1	UNIT	0.00	1.00	\$ 110.00	S 110.00	\$ 110.00	\$ 110.00	\$ -
	SIGNS, POST MOUNTED, NO PARKING HERE TO CORNER (RIGHT ARROW), 12"x18"	2	UNIT	0.00	2.00	\$ 110.00	\$ 110.00	\$ 220.00	\$ 220.00	\$ -

ITEM	DESCRIPTION	CONTRACT QUANTITY	UNITS	QUANTITY ADJUSTMENT	ADJUSTED QUANTITY	CONTRACT UNIT PRICE	ADJUSTED UNIT PRICE	CONTRACT	FINAL AMOUNT	AMOUNT OF CHANGE
S-22 (14.1.R9-3cP)	SIGNS, POST MOUNTED, RIDE WITH TRAFFIC, PLAQUE, 12" x 12"	0	UNIT	6.00	6.00	S -	\$ 140.00	\$ -	\$ 840.00	\$ 840.00
S-23 (14.1.W11-1)	SIGN, POST MOUNTED, BICYCLE WARNING, (FI Y-G), 30"x30"	0	UNIT	2.00	2.00	s -	\$ 285.00	s -	\$ 570.00	\$ 570.00
S-24 (14.1.W16-1)	SIGN, POST MOUNTED, SHARE THE ROAD PLAQUE, (FI Y-G), 18"x24"	0	UNIT	2.00	2.00	s -	\$ 165.00	\$ -	\$ 330.00	\$ 330.00
14.1.D3-6	SIGN, POST MOUNTED, STREET NAME, EXTRUDED BLADE, 36"x9"	10	UNIT	0.00	10.00	\$ 150.00	S 150.00	\$ 1,500.00	\$ 1,500.00	\$ -
14.1.D4-1R	SIGN, POST MOUNTED, PARKING AREA (RIGHT ARROW), 24"x18"	1	UNIT	0.00	1.00	\$ 125.00	S 125.00	\$ 125.00	\$ 125.00	\$ -
14.1.S1-1	SIGN, POST MOUNTED, SCHOOL ADVANCE WARNING, (FI Y-G), 36"x36"	1	UNIT	0.00	1.00	\$ 325.00	\$ 325.00	\$ 325.00	\$ 325.00	\$ -
14.1.W16-9P	SIGN, POST MOUNTED, AHEAD PLAQUE, (FI Y-G), 24"x10"	1	UNIT	0.00	1.00	\$ 60.00	S 60.00	\$ 60.00	\$ 60.00	\$ -
14.3.4	SIGN, OVERHEAD STREET NAME (), 48"x18" (MAST ARM MOUNTED)	1	UNIT	0.00	1.00	\$ 475.00	\$ 475.00	\$ 475.00	\$ 475.00	\$ -
S-1	FLOWABLE FILL	0	CY	5.00	5.00	S -	\$ 530.00	\$ -	\$ 2,650.00	\$ 2,650.00
S-2	ELECTRIC VAULT (WEST SIDE)	0	LS	1.00	1.00	s -	\$25,000.00	\$ -	\$ 25,000.00	\$ 25,000.00
S-3	ELECTRIC VAULT (EAST SIDE)	0	LS	1.00	1.00	s -	\$25,473.31	\$ -	\$ 25,473.31	\$ 25,473.31
					TOTAL OF CH	HANGE ORDE	ER #1:			\$74,560.81
						COV FN	GINEERING	DIVISION - CHA	NGE OPDER	\$ 24,097,50
						CC	OV ELECTRIC	UTILITY - CHA	NGE ORDER	\$ 50 473 31
	TOTAL PERCENT FOR THIS CHANGE ORDER:	4.62%							ONDER	\$ 00,470.51
	PERCENT TOTAL CHANGE ORDER TO DATE OF ORIGINAL CONTRACT AMOUNT	0.0461845								
	AMOUNT OF ORIGINAL CONTRACT:			\$1,614,412.00						
	PLUS CHANGE ORDER NO. 1:			\$ 74,560.81						
	AMOUNT OF ADJUSTED CONTRACT:			\$1,688,972.81						

Recommended By:

Charles Marandino, Contractor

David J. Maillet, City Engineer

CONCRETE CONTRACTOR

PO Box 20 Milmay, NJ 08340 Phone: 856.691.9963 Fax: 856.691.5195 Cell: 856.982.6433

RE: Reconstruction South 7th Street

City of Vineland

PROPOSAL

DATE: January 4, 2023 Revised as Negotiated

> TO: City of Vineland Dept of Engineering

ATTN: Stephanie Wakely

ITEM		DESCRIPTION	UN	IT PRICE	Q.	TY	TOTAL COST
S-1	Flowable Fill	Quantity Estimated	\$	530.00	10	CY	\$ 5,300.00
							\$ -
							\$ _
							\$ -
		Proposed Total					\$ 5,300.00

Concrete Contractor & Consultant

P.O. Box 20 Milmay, NJ 08340

Phone (856) 691-9963 (856) 457-7264 • Fax (856) 691-5195 • Cell (856) 982-6433

January 31 , 2023

City of Vineland

Attn:

Engineering

Project:

7th Street Road Program

west side

Near #12 5 Seventh St

Demolish & Dispose of Existing 8" Reinforced Concrete Lid, Steel Angles & Grate Per Enclosed Drawing:

- 1. Furnish & Install 2 30" Low Profile Manhole Lids
- 2. Cut & Install 3/8" x 3" x 3" Steel Angles, cut to existing dimensions and size
- 3. Fasten & Install in existing structure with $\frac{1}{2}$ " x 4" Lag Bolts on 12" Center
- 4. Fabricate & Install Heavy Duty Galvanized Corrugated Decking
- 5. New Concrete Slab to be 8" thick Reinforced with #4 Rebar at 8" on Center each way supported by Wire Chairs
- 6. Repour with NJ DOT Class B Concrete, with Broom Finish

Lump Sum \$ 25,000 < 5-2

Submitted by,

Charles Marandino LLC

Conclid Rein Forced Electric Pit 30" Low Profile man hole lids Top Shab 10p Slaby Heavy Duty \$"X4" Lag Bolts wire chaine 88° oc Each way

Concrete Contractor & Consultant

P.O. Box 20 Milmay, NJ 08340

Phone (856) 691-9963 (856) 457-7264 • Fax (856) 691-5195 • Cell (856) 982-6433

January 31 , 2023

City of Vineland

Attn:

Engineering

Project:

7th Street Road Program

west side

Near # 12 5 Seventh St

Demolish & Dispose of Existing 8" Reinforced Concrete Lid, Steel Angles & Grate Per Enclosed Drawing:

- 1. Furnish & Install 2 30" Low Profile Manhole Lids
- 2. Cut & Install 3/8" x 3" x 3" Steel Angles, cut to existing dimensions and size
- 3. Fasten & Install in existing structure with ½" x 4" Lag Bolts on 12" Center
- 4. Fabricate & Install Heavy Duty Galvanized Corrugated Decking
- New Concrete Slab to be 8" thick Reinforced with #4 Rebar at 8" on Center each way supported by Wire Chairs
- 6. Repour with NJ DOT Class B Concrete, with Broom Finish

Lump Sum \$ 26,863.00

Submitted by,

Charles Marandino LLC

CONCRETE CONTRACTOR

PO Box 20

Milmay, NJ 08340 Phone: 856.691.9963 Fax: 856.691.5195 Cell: 856.982.6433 DATE: February 2, 2023

TO: City of Vineland Engineering

PROPOSAL

RE: 7th Street Electric Vault

west side

Near #12 5 Seven St

ATTN: Stephanie

ITEM	DESCRIPTION	UNIT PRICE	QTY	TOTAL COST
	Contingency for Structural Wall Condition, Time	\$ 4,000.00	1 LS	\$ 4,000.00
	Composite Castings & Covers	\$ 697.00	2 Unit	\$ 1,394.00
	Concrete	\$ 1,500.00	1 LS	\$ 1,500.00
	Labor Operator & 2 Laborers	\$ 3,500.00	3 Day	\$ 10,500.00
	Steel Fabrication	\$ 2,800.00	1 LS	\$ 2,800.00
	Demolition Top Slab Backhoe	\$ 600.00	2 Day	\$ 1,200.00
	Demolition Top Slab Truck	\$ 250.00	2 Day	\$ 500.00
	Demolition Top Slab Work Truck	\$ 100.00	2 Day	\$ 200.00
	Demolition Top Slab Misc Equipment, Small Tools	\$ 100.00	2 Day	\$ 200.00
	SubTotal			\$ 22,294.00
	Overhead	15%		\$ 3,344.10
	Profit	10%		\$ 2,563.81
			_	\$ -
				s -
				\$ -
				-
	Proposed Total			\$ 28,201.91

NOTE: Prices quoted this date may be subject to change (higher/lower) depending on Project Start Date MARKED BOXES REPRESENT EXCLUSIONS:

No Concrete Reins	stallat	ion or Concret	e Repairs Damaged by Others	[X]
Saw Cutting and/o	or Jac	k Hammering	of Roadway	[X]
No Layout	[X]	Landscaping	[X]	Mailbox &/or Fence Relocation [X]
Traffic Control	[X]	Top Soil	[X]	Tree / Root Cutting [X]
Traffic Director	[X]	Seed	[X]	Tree / Root Removal and Disposal [X]
Police man Hours	[X]	Sod	[X]	Concrete Testing [X]
Signage	[X]	Permit Fee	[X]	Catch Basin or Manhole Adjmts [X]
Inspection or Engir	neer C	Overtime (Unles	s authorized by Charles Marandino	[X]
Millings/DGA Road	lway	Installation		[X]
Millings/DGA supp	lied b	y Charles Marc	andino, LLC - Truck supplied by others	[X]
Millings/DGA supp	lied b	y others - Truck	supplied by Charles Marandino, LLC	[X]
DGA for Sidewalk S	SubBo	ise and Truck si	upplied by Charles Marandino, LLC	[X]
Millings/DGA supp	lied a	nd trucked by	others (no cost to CMLLC)	[X]

MARKED BOXES REPRESENT INCLUSIONS:

1 Mobilization / Demobilization [X]

Add \$ per each additional Mobilization/Demobilization thereafter

Back Filling (retaining behind curb) [X]

Excavation of Concrete Items

ſΧΊ

CONCRETE CONTRACTOR

PO Box 20

Milmay, NJ 08340 Phone: 856.691.9963 Fax: 856.691.5195 Cell: 856.982.6433

PROPOSAL DATE: February 10, 2023

TO: City of Vineland Engineering

RE: 7th Street Electric Vault 2nd Vault

East side

Near #7 5 Seve-th St

ATTN: Stephanie

ITEM	DESCRIPTION	UNIT PRICE	Q.	ΓY	т	OTAL COST
	Contingency for Structural Wall Condition, Time	\$ 4,000.00	1	LS	\$	4,000.00
	Composite Castings & Covers	\$ 697.00	1	Unit	\$	697.00
	Concrete	\$ 980.00	1	LS	\$	980.00
	Labor Operator & 2 Laborers	\$ 3,500.00	3	Day	\$	10,500.00
	Steel Fabrication	\$ 2,280.00	1	LS	\$	2,280.00
	Re-Rod Reinforcement	\$ 280.00	1	LS	\$	280.00
	Demolition Top Slab Backhoe	\$ 600.00	1	Day	\$	600.00
	Demolition Top Slab Truck	\$ 600.00	1	Day	\$	600.00
	Demolition Top Slab Work Truck	\$ 100.00	1	Day	\$	100.00
	Demolition Top Slab Misc Equipment, Small Tools	\$ 100.00	1	Day	\$	100.00
	SubTotal				\$	20,137.00
	Overhead	15%			\$	3,020.55
	Profit	10%			\$	2,315.76
					\$	-
					\$	_
					\$	-
	Proposed Total				\$	25,473.31

NOTE: Requires Quick Response

Scope of Work

- 1 Clean Pit, Remove & Dispose Associated Angles
- 2 Demolish & Dispose existing deteriorated Block & Rubble
- 3 Form Interior Wall Perimeter
- 4 Pour new inner cells of existing blocks to minus 8" elevation of new sidewalk grade
- 5 Form interior walls also to minus 8" of new sidewalk grade, Install with #\$4 Rebar

at 16" on center in existing block walls projecting to upper new corrugated slab

- 6 Strip all forms and Fabricate Angle Iron, Install with Lag Bolts at 12" On Center
- 7 Fabricate Galvanized Corrugated Decking to Support new Concrete Slab

with #4 Rebar at 8" On Center

8 Pour Exterior Pad and Pour Concrete Slab as Detailed

CONCRETE CONTRACTOR

PO Box 20

Milmay, NJ 08340 Phone: 856.691.9963 Fax: 856.691.5195 Cell: 856.982.6433

RE: 7th Street Road Program

Cit of Vineland

PROPOSAL

DATE: January 16, 2023

TO: City of Vineland Engineering Dept Vineland, NJ

ATTN: Stephanie Wakely

ITEM	DESCRIPTION	UNIT PRICE	QTY	то	TAL COST
13.1.1	Traffic Stripes LL Epoxy 4" White	\$ 0.90	1720	\$	1,548.00
13.1.3	Traffic Stripes LL Epoxy 6" White	\$ 1.00	1720	\$	1,720.00
13.2.1	Traffic Stripes LL Thermo 4" White	\$ 1.20	1050	\$	1,260.00
13.2.2	Traffic Stripes LL Thermo 4" Yellow	\$ 1.30	130	\$	169.00
13.2.7	Traffic Stripes LL Thermo 24" Yellow	\$ 6.50	130	\$	845.00
13.2.8	Traffic Stripes LL Thermo 4" Blue	\$ 4.95	130	\$	643.50
13.4.1	Traffic Markings LL Thermo Preform Straight Arrow White	\$ 135.00	12	\$	1,620.00
13.4.2	Traffic Markings LL Thermo Preform Bike Symbol White	\$ 360.00	13	\$	4,680.00
13.4.3	Traffic Markings LL Thermo Preform End Legend White	\$ 135.00	2	\$	270.00
13.4.4	Traffic Markings LL Thermo Preform Shared Lane Legend White	\$ 385.00	4	\$	1,540.00
13.6.1	Traffic Markings Paint Handicap Symbol Handicap Blue	\$ 75.00	6	\$	450.00
14.1	Sign Post Mounted Bicycle Lane 30" x 24"	\$ 225.00	12	\$	2,700.00
14.1	Sign Post Mounted End Plaque 24" x 12"	\$ 65.00	2	\$	130.00
14.1	Sign Post Mounted Begin Plaque 24" x 12"	\$ 65.00	2	\$	130.00
14.1	Sign Post Mounted Wrong Way w/ Bike Symbol 12" x 18"	\$ 140.00	6	\$	840.00
14.1	Sign Post Mounted Reserved Parking (HC) 12" x 18"	\$ 140.00	6	\$	840.00
14.1	Sign Post Mounted HC Parking Penalty Plaque 10" x 12"	\$ 28.00	6	\$	168.00
14.1	Sign Post Mounted Van Accessible Plaque 12" x 6"	\$ 24.00	6	\$	144.00
14.1	Sign Post Mounted Ride With Traffic Plaque 12" x 12"	\$ 140.00	6	\$	840.00
14.1	Sign Post Mounted Bicycle Warning (FI Y-G) 30" x 30"	\$ 285.00	2	\$	570.00
14.1	Sign Post Mounted Share the Road (FI Y-G) 18" x 24"	\$ 165.00	2	\$	330.00
	Proposed Total		3	\$	21,437.50

5-4 to 5-24



David J. Maillet, PE City Engineer dmaillet@vinelandcity.org www.vinelandcity.org 640 E. Wood Street PO Box 1508 Vineland, NJ 08362-1508 Phone: (856) 794-4090

December 12, 2022

Gary Giglio Charles Marandino, LLC PO Box 20 Milmay, NJ 08340

> RE: REVISED SIGNAGE AND STRIPING 2021 Road Program (Seventh Street) (Landis Avenue to Chestnut Avenue) City of Vineland, Cumberland County City Eng. File No.: 21-001

Dear Mr. Giglio:

As a follow up to a phone conversation you had with Stephanie Wakeley (on 11/28/22), enclosed please find a copy of the revised signage and striping plan for the above referenced project. At the City's request, the signage and striping plan was revised for on-street parking, a bike lane, additional signage, and handicap parking aisle ramps for each block.

The City requests bid prices for all new project items, which are included on a separate attachment. In addition to the added specification items, three existing bid items for this project will be increased (#3.2.1 concrete vertical curb, #3.3.1 concrete sidewalk, and #3.4.1 public sidewalk curb ramp delineations). The additional work for all existing items will be paid at the bid unit price for each of these items on the project.

A template is also provided for the handicap parking sidewalk ramp for use in the field. The City's Project Manager and the Inspector will meet with the Foreman on site to markout the limits of each parking stall.

Should you have any questions or comments please contact this office at (856) 794 - 4000 ext 4098.

Sincerely,

David J. Maillet, PE City Engineer

CC:

Stephanie Wakeley, Assistant Engineer-Traffic Anthony Rodriguez, Supervising Road Inspector Bruce Bacon, Road Construction Inspector

Special arrangements for persons with disabilities may be made if requested in



21-001 Road Program (Seventh Street)

Revised Signage and Striping Plan Estimated Change Order Quantities

*additional concrete quantities are estimated. As-built quantities will be paid for

ITEM NO.	DESCRIPTION	UNITS	CONT	RACTOR'S UNIT PRICE	CHANGE ORDER QT	MATED CHANGE ORDER COST
3.2.1	6"x18" CONCRETE VERTICAL CURB	LF	\$	42.00	165	\$ 6,930.00
3.3.1	CONCRETE SIDEWALK, 4" THICK	SY	\$	98.00	265	\$ 25,970.00
3.4.1	PUBLIC SIDEWALK CURB RAMP DELINEATIONS (CAST IRON TRUNCATED DOME CASTINGS)	SF	\$	40.00	48	\$ 1,920.00
13.1.1	TRAFFIC STRIPES, LONG LIFE, EPOXY RESIN, 4" WHITE	LF			1720	\$ -
13.1.3	TRAFFIC STRIPES, LONG LIFE, EPOXY RESIN, 6" WHITE	LF			1720	\$ -
13.2.1	TRAFFIC STRIPES, LONG LIFE, THERMOPLASTIC, 4" WHITE	LF			1050	\$ -
13.2.2	TRAFFIC STRIPES, LONG LIFE, THERMOPLASTIC, 4" YELLOW	LF			130	\$ -
13.2.7	TRAFFIC STRIPES, LONG LIFE, THERMOPLASTIC, 24" YELLOW	LF			130	\$ -
13.2.8	TRAFFIC STRIPES, LONG LIFE, THERMOPLASTIC, 4" BLUE	LF			130	\$ -
13.4.1	TRAFFIC MARKINGS, LONG LIFE, THERMOPLASTIC, PREFORMED, STRAIGHT ARROW, WHITE	UNIT			12	\$ 7-
13.4.2	TRAFFIC MARKINGS, LONG LIFE, THERMOPLASTIC, PREFORMED, "BIKE" SYMBOL, WHITE	UNIT			13	\$ -
13.4.3	TRAFFIC MARKINGS, LONG LIFE, THERMOPLASTIC, PREFORMED, "END" LEGEND, WHITE	UNIT			2	\$ -
13.4.4	TRAFFIC MARKINGS, LONG LIFE, THERMOPLASTIC, PREFORMED, "SHARED LANE MARKING" LEGEND, WHITE	UNIT			4	\$ -
13.6.1	TRAFFIC MARKINGS, PAINT, HANDICAP SYMBOL, HANDICAP BLUE	UNIT	•		6	\$
14.1.R3-17	SIGN, POST MOUNTED, BICYCLE LANE, 30"x24"	UNIT			12	\$ -
14.1.M4-6	SIGN, POST MOUNTED, "END" PLAQUE, 24"x12"	UNIT			2	\$ -
14.1.M4(NJ)-10	SIGN, POST MOUNTED, "BEGIN" PLAQUE, 24"x12"	UNIT			2	\$ -
14.1.R5-1b	SIGN, POST MOUNTED, WRONG WAY W/BICYCLE SYMBOL, 12" x 18"	UNIT			6	\$
14.1.R7-8	SIGN, POST MOUNTED, RESERVED PARKING (HC), 12"x18"	UNIT			6	\$ -
14.1.R7-8P	SIGN, POST MOUNTED, HC PARKING PENALTY PLAQUE, 10"x12"	UNIT			6	\$ 1-1
14.1.R7-8va	SIGN, POST MOUNTED, VAN ACCESSIBLE PLAQUE, 12"x6"	UNIT			6	\$ -
14.1.R9-3cP	SIGNS, POST MOUNTED, RIDE WITH TRAFFIC, PLAQUE, 12" x 12"	UNIT			6	\$ -
14.1.W11-1	SIGN, POST MOUNTED, BICYCLE WARNING, (FI Y-G), 30"x30"	UNIT			2	\$ -
14.1.W16-1	SIGN, POST MOUNTED, SHARE THE ROAD PLAQUE, (FI Y-G), 18"x24"	UNIT			2	\$ -

